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1.  In column C Zeus invites Apollo.
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This means he will need food for 2.

In each cell write the add sum to work out the cost of the party

=50+50

2. Find the total shopping bill by highlighting the C column

and then using the ‘sum’ sign.

3. Work out how much food will cost if Hermes and Aphrodite come to the party too. This means you need food for 4.

An easy way to work this out is to write this formula in the cells…

Into cell D5 write =B5*4

Into cell D6 write =B6*4

Into cell D7 write =B7*4

Into cell D8 write =B8*4
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Into cell D9 write =B9*4

Into cell D10 write =B10*4

Into cell D11 write =B11*4

Into cell D12 write =B12*4

Into cell D13 write =B13*4

Zeus decides to throw a party to celebrate the first Olympic games
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